
Prénom : ……………………………………………………

Aire

Utiliser l’abaque des aires. 

km² ha a m² - ca dm² cm² mm² 
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              16 cm² 

              4,3 m² 

              166 ha 

              12 a 9 ca 

              0,45 m² 

 

Complète par <, > ou = 

 

 

 

 

 

 

Barre l’intrus dans chaque série. 

1,4 m² - 140 dm² - 14 dm² - 0,014 a 

120 ha – 12 km² - 1,2 km² - 12 000 a 

125 cm² - 1250 m² - 1,25 dm² - 12 500 mm² 

0,03 m² - 3 dm² - 30 dam² - 300 cm² 

0,025 km² - 2,5 ha – 250 a – 2500 m² 

11,1 m² - 1110 dm² - 0,111 dam² - 111 cm²

1,5 km² …… 151 ha 

4,4 a …… 440 m² 

0,137 dm² …… 13,7 mm² 

18 ha …… 0,15 km² 

11 923 a …… 1,1923 km² 

35 m² …… 1 ha 

1 000 000 m² …… 1 km² 

1,06 cm² …… 15 mm² 

2,7 ha …… 45 a 

25 mm² …… 1 cm² 
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